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Poles and zeros of original system:
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Poles of model of Order 1



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−10

−5

0

5

10

15

20
Response of model of Order 1

ω/π

20
*l

og
10

(|
H

|)



−1 −0.5 0 0.5 1

−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

Real part

Im
ag

in
ar

y 
pa

rt

Poles of model of Order 2
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Poles of model of Order 3
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Poles of model of Order 4
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Poles and zeros of original system:
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Poles of model of Order 1
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Poles of model of Order 2
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Poles of model of Order 3
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Poles of model of Order 5
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Poles of model of Order 8



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−20

−15

−10

−5

0

5

10
Response of model of Order 8

ω/π

20
*l

og
10

(|
H

|)



−1 −0.5 0 0.5 1

−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

Real part

Im
ag

in
ar

y 
pa

rt

Poles of model of Order 9
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Poles of model of Order 6
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Poles of model of Order 7
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Poles of model of Order 10
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Response of model of Order 20
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Response of model of Order 30
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Response of model of Order 40
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Response of model of Order 50
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